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CLASS: VIl MAX MARKS: 20
SUBJECT: PHYSICS (SCIENCE PAPER 1) MAX TIME: 30 MIN
GENERAL INSTRUCTIONS
Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 5 minutes.
This time is to be spent in reading the question paper.
The time given at the head of this paper is the time allowed for writing the answers.
Read the questions carefully, follow the same system of numbering as given in the question paper.
The intended marks for questions or parts of questions are given in brackets [ ]

This question paper contains 2 printed pages

Question — 1
a) Answer the following a word:- [2X 6=3]
(i) The matter in which the particles having maximum kinetic energy.
(ii) The process in which vapour changes directly into solid.
(iii) The relative density of a substance is also called ------
(iv) The upward force experienced by a body when partly or completely immersed
in a liquid
(v) The turning effect produced by a force on the body fixed at a point.

b) The diagram shows change of state from solid to liquid and liquid to gas.
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Answer the following questions using the above diagram.
(1) Name and define the process of change of state from liquid to gas.
(ii) At what temperature water changes to ice and name the process
(iii) Why temperature of substance does not change during change of state  [3]

c) Explain evaporation on the basis of kinetic theory. [2]

d) What will be the turning effect produced by the force when it is acted along the axis of
rotation? Give reason for your answer. [2]

Question — 2
a)The. - two metal blocks of Iron and Aluminium having same
volume.
(i) Which substance has greater mass? Why?
(ii) Define the phenomenon stated in part (1)
(iii) What happens to the phenomenon stated above with the decrease in
Temperatue? [3]
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b) If 20cm® of lead has mass of 232g, find the Relative density of lead.
(density of water is 1g/cm®) [2]

¢) Choose the odd one out and give proper reasoning for the choice.
() Kg/m®, g/m’, g/em®

(ii) Physical balance, beam balance, hydrometer [2]
d) One litre of water is added to one litre of milk. What will be the density of the
mixture? (density of milk = 1.04g/cm®) [2]
e) Establish relation between SI unit and CGS unit of moment of force. [1]
o ok ok ok ok ook sie sl sk s skl sk sk

2




